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Math 211- Spring 2007 Drop Quiz 8, section 4, April 26, 2007
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Question 1: (1.5 points)
Explain which rules of inference are used for each step of the following argument: :
“Logic is difficult or not many students like logic. A1 Poqic s Mok

If mathematics is easy, then logic is not difficult.

(3
Therefore: mathematics is not easy, if many students like logic.” S not maoey sfudaaly
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" What relevant conclusions can be drawn for the following sets of premises? (Explain the rules of inference
used to obtain each conclusion)
a) “If I eat onions at dinner, then I have nightmares”. “If there is thunder while I sleep, then I have
nightmares”. “I am tired the next day, whenever I have nightmares”. “Today, I am not tired”.
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b) “IfI go to the beach, then I will see your brother”. “I am depressed, whenever I see your brother”. “1
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Question 3: (2 points)

Prove, using mathematical induction; o©wa ¢£_ +he (@dow 0y ¢ taterants
a) n!<n", for all n greater then 1.
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b) 1.23+234+..+nn+))(n+2)= n(n+ 1)(n: D(n+3) , for every positive integer n.
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